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ΔHsolution = ΔHlattice + ΔHsolvation

ΔTb = mKb ΔTb = imKb

ΔTf = −mK f ΔTf = −imK f

Π = −MRT Π = −iMRT

Psolution = χ solventP
∗

Pgas = χgas • K

ΔG = −RT lnK
ΔG = ΔG  + RT lnQ
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Kp = Kc (RT)
Δn

	
  

EXAM	
  2	
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Rate = k[A]x[B]y[C]v[D]w

Rate =
−1
a
d[A]
dt

=
−1
b
d[B]
dt

=
1
c
d[C]
dt

=
1
d
d[D]
dt

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

EXAM	
  4	
  	
  

€ 

NA = 6.022 ×1023mol−1

1 amu =1.66054 ×10−27 kg
c =2.9979 ×108m • s−1

me = 9.10939 ×10−31kg = 5.485 ×10−4 amu

mn =1.67493 ×10−27kg =1.00866 amu

mp =1.67262 ×10−27kg =1.00728 amu
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1Ci= 3.7 ×1010 Bq
1 sievert =100 rem
Ci is symbol for Curie
Bq is symbol for Becquerel
rem is symbol for Roentgen equivalent man



	
  


